LYNX MANUAL DOC .REV .A 12-06-2015

LX1552 GAUI X3 - ULTRA MAIN FRAME

STEP 1

TBEM2X8
Bottom Hex Cup Screw M2X8
(Loctite 242)

6 x TBEM2X5

Bottom Hex CupScrew M2X5

(Loctite 242)

STEP2
2 X DR1648
Gaui X3 - Base Frame Rod A

DR130] DR1649

Gaui X3 - Base Frame Rod B

DR1650
Gaui X3 - Bottom plate

DR1654
Gaui X3 - Frame support

Note: reverse
STD motor mount

Note: Reverse STD
battery tray

Assembly view

2xDR1651
Gaui X3 - Stiffener

DR1648
Gaui X3 - Lynx left frame

10 x TBEM2X5
Boftom Hex Cup Screw M2X5
(Loctite 242)

Gaui X3 - Lynx right frame

2 x TBEM2X10
Bofttom Hex Cup
Screw M2X10
(Loctite 242)

DR0266
Frame C Washer M

4 x CEM2X6
Hex cup screw M2x
(Loctite 242)

HELI INNOVATIONS




LYNX MANUAL DOC .REV .A 12-06-2015

LX1552 GAUI X3 - ULTRA MAIN FRAME
STEP 3_1
2 x TBEM2X4

Bottom Hex Cup Screw M2X4
(Loctite 242)

2 x DR1652
Gaui x3 - Tail mini servo support
4 x TBEM3X6
Button hex cup screw M3xé
(Loctite 242) STEP 3 2

Assembly view

DR1653
Gaui X3 - Tail micro
servo support

4 x TBEM2X5
Bottom Hex Cup Screw M2X5

HELI INNOVATIONS




	Sheet 1
	Drawing View6
	Drawing View8
	Drawing View14

	Sheet 2
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20


